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1- In the RL circuit shown:

A) Use your favorite method to find the
complete response for i(1).

B) After the transient part of the response dies
out, find the energy delivered to the resistor in
one cycle.

(15+10=25 points)
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R=10

i(0)=1a
—

vi(ry=cos(u(r) ()
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2- Use Laplace Transform to find the i,

complete response for v if:

Vi
A) i()=uln 1;2£L e
o®'E S

B) in=6(n)

C) Is the response in part B the T 0.02H
derivative of the response in Part
A and why? i(0)=3a v(0)=2v

(10+10+5=25 points)
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R4
3- Find the Y-parameters of the two-port o AN 0
network shown here.
(25 points) Port#1 R R; Port#2
o LN
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; 4- Without using Laplace Transform:
A) Write the integro-differential equations in time

domain relating ve(7) to via(1).
A For viu(n=u(1) find the homogenous and particular
%* responses.
“8) Find the complete response by applying the initial
\ & conditions.

(10+10+5=25 points)
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i(0)=1a ve(0)=1lv






